@ Innovators in Protection Technology

J=ba1=ZA7L—hERsiAE
Instruction Manual for
Moulded Case Circuit Breakers
¥ (Types)
- BE%EW (Fix Types)
PS50-PF  PS125-NF
PS125-PF PS$250-PF

- AIEREE - BFR

(Adjustable Thermal Magnetic Types, Electronic Types)
PS125-NE  PS125-PE

PS250-NE PS250-PE

P160F P160N P160H

P250F P250N P250H

A YF T4 AARI SR AS
Instruction Manual for
Switch Disconnector
ER (Types)
PS125-NN PS$250-NN
P160D  P250D

TemBreak

ABAEN, CEBICEZHDEFTTARELTTEN REFISRANTOAVEIRL,
RUBSEBIROMNC L TELPEEICHALT B3 —IHEEEVE LA,

Please retain this manual for future reference. The Manufacturer assumes no
responsibility for damages resulting from non-application or incorrect application of the
instructions provided herein.

STSSESEERA\SL

F547-0002
KBRATFEF X INER6-13-47

TEL 06-6791-2756
FAX 06-6791-2732
http://www.terasaki.co.jp

TERASAKI ELECTRIC CO., LTD.

6-13-47 Kamihigashi, Hiranoku, Osaka
547-0002, Japan

TEL +81-6-6791-2763
FAX +81-6-6791-2732
http://www.terasaki.co.jp
kiki-info @terasaki.co.jp

2G1577SAH (KRB-0901h)

int-sales @terasaki.co.jp

(&Zet0 FE
WL R RS- MR OBIIC, BT ABEZOMDHEBFELFHES BBOMH, RO
i ROERBEOLTICERAL TSEEURNTEW, ZOBURGBAE T, R2FBHRED
SUoE R, BERI LU TR AL THES,
BRWVE RS BRI, BRI AT R E I BT 2 B A AN
BESNZHE.
RWE RSB, BRARENEDA T FREDEEL BEEETS
RN EESND A,
B, B ICEHULEETH RRICE > TREABRBRICHU DBADBOET .
WIFNLEERHNATT D TR FoT T,
WET EDEE BLICLELSBORMTAIENSIOSESBLTTE,)
MNEE
BSTHEIHERS (BRIED) HToTTR,
OS5 R 28 BENER BENAR RE, HELEEFBBECRBLLVTTEN,
XS DREERE D, EBICEBELANESZABIET,
@IS, IVIU—I s, MM BEDBRY RUOTMABENTL—HRBIRASBEVLS I
BILTTFEW. KK DRRELE 1D, REHED R ZNHBOET
@15 TEEM, 7L —11E%0 (OFF) 2L, FEBL TWBW I EERERL TT> T FEL,
BEOBZNIBOET,
Q4B TL—HDHE, 3HH4RA D P HEREBINBICEREL T FEN, BERT
BFE T Ic N DRRERDET,
@i FRUIMEERMNLY THREICH T TTEN, KEDREEADET,
i THUD R B RO B, i TR R .
ISV ESIEL T FEV I FHADBABIG AL, o7
KK DBZNDBOET
OEAENTL—HBRAOBYEEREE, TL—HikE
FTRTBFZLT TN, IHF/N\UZHREESN TWSIHEIER T EAL, BB T—7%FT
B/ P EERDFTHERU T IV, RHOBERIEERER T 28 ZNDBOET,
@ 7 —UHAFEH QIEISHIRNTT —7 AR—2R (i Ea) %+ D HRL TSV, ERT T
ERNMBENBOET,

BERLDER

A fakk
O FIIC BN T TEN, BEOBTNHBIET

AEE

@B EHIChU YT GEMT) LI E Ik, REZIDBRV\WTHS/\VRIL% | (ON)ICLT
TEW, REBR (BEER) ZEBM LIS A TL—NDERRLTTEN, XKD
BENHHBDET

BRT - AR LEDEE

AEE

OIFF - RIRG, FEFIHHEB I DANMTOTTE0,

@RS BRI _ERITL—h7%:8%0 (OFF) ICL, BBL TLWVRWZ EEERL TIT> T TEL,
BREORENNBDET

@i FRUIE, EHICEEER N L TEUEOL TV, XK DREEEDET,

BZDHBOER

F (IEBEED N RER> THEEVLBWT TSV, ED REEBDEY

+ TL—ADKEDAN—BFRIFRNTTEN, MR REERIECESEE Ao

LA ERY 2ERC BRI ERBRICEL/CHMEEDOLDEEALTTIW,
TEEN NSV FREBERPBRDOEENAHDEY

[1] Safety Notices

Be sure to read these Instructions and other associated documents accompanying the

product thoroughly to be familiarize yourself with the product handling, safety information, and
all other precautions before mounting, using, servicing, or inspecting the product. In these
Instructions, safety notices are divided into "Warning" and "Caution" according to the hazard
level:

: A warning notice with this symbol indicates that neglecting the suggested
procedure or practice could result in lethal or serious personal injury.

: A caution notice with this symbol indicates that neglecting the suggested
procedure or practice could result in moderate or slight personal injury and/or property damage.
Note that failing to observe notices could result in serious results in some cases.
Because safety notices contain important information, be sure to read and observe them.

EMounting Precautions
(For detailed mounting dimensions, refer to the main catalogue.)

A\ Caution

@ Electrical work should only be undertaken by suitably qualified persons.

@ Do not place the product in an area that is subject to high temperature, high humidity,
excessive dusty air, corrosive gas, strong vibration and shock, or other unusual
conditions. Mounting in such areas could cause a fire or malfunction.

@Be careful to prevent foreign objects (debris, concrete powder, iron powder, etc.) and
rainwater from entering product. These materials inside the product could cause a fire
or malfunction.

@ Prior to commencing any work on the product, open an upstream circuit breaker or isolator to
ensure that no voltage is applied to the product. Otherwise, electrical shock may result.

@ For 4-pole breakers, be sure to connect a neutral conductor to the N pole. Otherwise, an
over-current may hinder the product from tripping, thus resulting in a fire.

@When connecting cable or busbar to the product, tighten terminal screws to the torque
specified in this manual. Otherwise, a fire could result.

@Even when tightening the terminal screws and
after conductor connection, do not apply excessive  fero®
force to the terminals. Otherwise, a fire may result.

@For front-connected breakers, Insulate all bare
conductors of the line side until the breaker end. If interpole barriers are packed, be
sure to use the barriers; moreover, insulate all bare conductors by insulating tape or the
like so that the tape overlaps with the barriers. Insufficient insulation may result in short-
circuit.

@Do not block the arc gas vents of the product to ensure adequate arc space. Blocking
these vents could result in failure of circuit interruption.

B Handling Precautions

/A\Warning

@Never touch terminals. Otherwise, electric shock may result.

A\ Caution

@When the breaker trips open automatically, remove the cause, then return the
handle to the | (ON) position. Should a fault be interrupted, the breaker must be
inspected. Otherwise, a fire may result.

HEMaintenance Precautions

A\ Caution

@Service and/or inspection of the product must be done by persons having expert
knowledge.

@Before servicing or inspecting the product, open an upstream circuit breaker or the
like to isolate all sources of power. Otherwise, electric shock may result.

@Regularly check that the breaker terminal screws are tightened to torque values
shown within this manual, failure to do so may result in fire.

HOther Precautions

+ Do not carry this product by accessory leads, as this may cause damage to the
product.

+ Unauthorised opening of the breaker cover will invalidate product warranty.

+ When installing the product, use wires or conductors, the cross sectional areas of
which accommodate the rated current of the product. Using wires or conductors with
inadequate cross sectional areas may cause false tripping and overheat.

NEY—8,/ VELHLBDTE Packaged ltems / Assembly Tools

TL—% . -
Breaker 1 Bk E
21y F (EE) B
= ;/(j ] Instruction Manual -
TAAIRTI (This document)
Switch
Disconnector 20T (FCDH)
~————=_Interpole Barrier
__—") (OnlyFQ)
2P: 1
3P: 2
4P: 3
-
i
- Type 1 Type 2
it/
Connections/Poles " 50/125/160AF £ 250AF
Aty PS50 PS125 P160 Aty PS250 P250
2P| 4
P )
B (FO) e M8x16 o FS mexs GHP
ron
2P
Connection
P Mdx62 2
P * = Ho Maxss >
2P [ 4
P
SE (RC) 5 MBx23 P HS wees P
(F;ear 5
onnection o)
Mdx62 2
g x = Ho Maxss &=
AR (PMB) 3P| 2 2
Pluig-in Mdx90 & [ Max80 ==
Connection 4P | 4 4
AR (PMC) 2P| 2
Plug-in Mé4x75
Connection 3P| 2 M 2 | M4x65 e
2P 4 4
P [ 4]
BT P P M8x23 @@?‘ 6] Msxes @W
Flush Plate 514 y:
Where Applicable 5T 2 M5x16 21 Msxi6
4P | 4 w 4] w

7N

=] o O 006

- BEFLISHEBP APRDAEL)ET
+ Except for the fixed types, only 3P and 4P.

#1E£81E Operating Instructions

TRIPPED

iy

.

J\UNL
Handle

~NIYTIRG >
Trip Button

RIE NRIVEREH

Operation Operation effort
O (OFF) = I (ON) 40N
Type 1 [1 (ON) = O (OFF) 30N
TRIP = O (OFF) 60N
O (OFF) = [ (ON) 55N
Type 2 [T (ON) = O (OFF) 40N
TRIP = O (OFF) 65N

NEfHERDAER  Fitting Internal Accessories | 2, 3, 4 Pole

#WBIAMvF  Auxiliary Switch
T2AX00L *

AX00L

BRA1VF Alarm Switch
T2ALOOL

e

ALOOL

EES|SHL TREESISL
Shunt Trip Undervoltage Trip

TasHooL"| | T2uvooL *

sHooL | | uvooL

* BSOS
3k Symbols of Accessories

#HAEbHE Combination

2 pole 3 or 4 pole
[ L] L] L]
1(ON) 1(ON) 1(ON) | (ON)
< =1 Fry T iRl
2 O - )| WD
& = LY LLY LA
F| |corm|  [owor| ol oM
101 1 1 L1000
1(ON)
o
> =
£ .0
O(OFF)
111

HBNRA Y F %1 D (F7-1320) U1 2355,
ZRIPDIEE I F TR,

In case of fiting one (or two) auxiliary
switch, fit in an order from a left sideslot.

- (BRI, BT ERBICEFI D IEERRL TS, SERATEL,
- After fitting, verify the function of the Accessory.

\)>%9<—7% Ring Mark
HHENZA Y F B2 F

Auxiliary Switch Alarm Switch
alfs b= | affm | blES

a contact b contact | a contact | b contact
11/AXc-14/AXa | 11/AXc-12/AXb 91/ALc | 91/ALc

21/AXc-24/AXa| 21/AXc-22/AXb | - -

31/AXC-34/A¥a | 31/AYG-32/AX0 | 34/ALa | 92/ALD

EEMLER AREES S LER
Shunt Trip Undervoltage Trip
power source power source
C1-C2 D1-D2

« B UIBEHF DB FIETITOET,
* When removing, remove the items in reverse order of mounting.




(5] NERTEMRDER Fitting Internal Accessories | for Smart AX-AL

A —bAX-ALZA v F
Smart AX-AL Switch
*
TPSS00 |
BN ZTvF  Auxiliary Switch
*
T2AX00L
AX00L Ve=—=7 Blng Mark
Ay Sumch
Xili wi
BESISL | FEBESISL R
Shunt Trip Undervoltage Trip a ?:or{féct b co’n’t‘;ot
T2SHOOL * T2UVOOL * 11/AXc-14/AXa 11/AXc-12/AXb
P 21/AXc-24/AXa 21/AXc-22/AXb
SHOOL | J|uvooL L 31/AXc-34/AXa 31/AXc-32/AXb
*fTRABDRES BEE5I5LER TREESSLER
. Shunt Trip Undervoltage Trip
* Symbols of Accessories power source power source
Bi53] % H LIOMIE  Pull Out Leads on Load Side cree D1-D2
#lA#&hHH Combination Ny
3 or 4 pole
|(ON)
i Wl Els
E L=
O(OFF)
11
s &
|(©ON) Contact|  Color
ffé =Iml=] a | #Red) 3
= L! Q b | £(Brack) IR
O(OFF) c | A(White) C —
e AL |
IR F &1 D (F70320) BT 3155,
ERDSIREICIAFF TR,
In case of fiting one (or two) auxiliary
switch, fit in an order from a left sideslot.

- BRI, DTERBCEBFT2ILEMBL TS, ZERATEV, - BALRBA U ORFIETTVET,

(6] AAEfTERE ZRER AEEUTEE ZAR

Breaker Mounting Procedure EAmf A B
for FC Plug-in Base
TPPM12B* Mdx90
Type 1 TPPM12P*
TPPM12E%* Mdx75
TPPM12C*
T2PM25B%
Type o | T2PM25P% Max80
T2PM25E3 Mdx65
T2PM25C3
*: 2,3, 4 (HEH Poles) 1.3~1.7N-m

M4x62 (Typs 1)
A | M4x55 (Type 2)
1.3 ~1.7N'm

Breaker Mounting Procedure for PM

AARTESE 185A% Breaker Mounting Procedure for FP

« After fitting, verify the function of the Accessory. * When removing, remove the items in reverse order of mounting.

| 2G1577SAH (KRB-0901h)

(Ol BAEREE =AW - Bl
Conductor Connection Procedure for RC/F.P (Where Applicable)

HEEXZYK  Flat bar stud
15~50A | TPRP05
Type 1

60~160A | TPRP16
Type 2 T2RP25L @
sk:3or4 (B3 Poles)

M6x20
78~11.8N-m
M8x23 (Type 1)
M8x25 (Type 2)
11.8~18.6N-m

m

M0 EFEHEE XREK % Typel VILEL ZIHFft

K

@®
Conductor Connection Procedure for FC , (for clamp terminals) l
.

~) ¥ F/\— Flat Bar
\m« l @,@ Ei5) Type 1| TPFB16%5
1 I T2FB25%LS
0 @. TVPe 2 [T oFB25+LW
l@ s 3 or 4 (fB% Poles)
[.} G N
J
L/IJ F Type |
@ Mex16
7| 49~69N-m
Type 1 | Type 2 ® MBx25
F[ =16mm | <22mm 0 N Hia~aenm
G| =8mm | =11mm ° - -
H| 84mm | 84mm P Type 2
I| =17mm | <25mm % [ @ M8x20
TPFW16 % | & Morey |
J| =8.5mm | =10mm 0| =23mm 7.8~12.7N-m
K| _=5mm_| =7mm BRI, T —HHEE TR THERLTT UV, Pl <o5mn? NI M10x25
L] 9mm 9mm -Insulate all bare conductors of the line side until the breaker end. Q| @ 12N'm 225~37.2N'm

M /VELARFEFERER REW (Type2)

M2 AR - EFRORRER (/—E21—-XTL—HDEH)
Terminals Mounting Procedure for FC (Type 2)

Adjustment procedure for adjustable Thermal Magnetic Types
(For Moulded Case Circuit Breaker)

VIAL ZEF
Solderless Terminal

T2FW25L *
*:2, 3 or 4 (182 Poles)

[»)

KBIMETEARR DA

T2FW25L *

R

(4

Z23mm m]
[ ]
P

=120mm?
© 9N'm
M6 X 20mm
6.9~9.3N'm
©

ZX—NIL—hDHE
For SMART Breaker

w| D ‘o‘-uo

EHFNY TEAERE
Interpole Barrier
Mounting Procedure

WwFNUT
Interpole Barrier
Type 1[T2BA16L
Type 2 | T2BA25L|
: 2,3, 4 (HEEX Poles)

HFH A~ EHR
Terminal Cover
Mounting Procedure

=
+ BAUREUF I OFEFIBTITVET,

+ When removing, remove the items in
reverse order of mounting.

3e YFhHN— (3 TN~
Connection Terminal Cover Connection Terminal Cover
W&, | T2CR16%S (Typel) TPCF16%SL (Typel)
RC T2CR25L%S (Type2) | | @& (k&) |TPCF16%SW (Typel)

*:2,3, 4 (HBE] Poles)

FC (Long Type) [T2CF25LSL (Type2)

T2CF25L*SW (Type2)

AN (/\E) |TPCF16+SS (Typel)

FC (Short Type) [ T2CF25L:SS (Type2)
*:2,3, 4 (HRE] Poles)

- BAALISBUS OB FIETITVES,

+ When removing, remove the items in

reverse order of mounting.

M5\ RIVERIVE /Oy VB ERE
Handle Holder / Lock Mounting Procedure

NURILRLE/Oy Y
Handle Holder/Lock

T2HH25L

< J\UNIL RILE/ By, | (ON), O (OFF) it BDWIh Th BRI TEET,

- Handle holder/ lock can be fitted in any position of (ON) and O (OFF).

< J\URIL Oy e UTERY 235/ 00 FIE TR RIFZEE I TTE0,

+ When you use this item as the handle lock, please fit padlocks in the procedure of @
- BRAUIFEHF D EFIETITVET,

- When removing, remove the items in reverse order of mounting.




